
How to calculate the equivalent mass of Barium hydroxide octahydrate?  

Solution: 

1.𝐵𝑎(𝑂𝐻)2×8𝐻2𝑂 is a crystalline hydrate.It is the formula to calculate the equivalent mass of 

crystalline hydrate: 

𝑀𝑒(substance×𝑛𝐻2𝑂)=𝑀𝑒(substance)+𝑀𝑒(𝐻2𝑂) × 𝑛; 

𝑀𝑒(𝐵𝑎(𝑂𝐻)2×𝑛𝐻2𝑂)=𝑀𝑒(𝐵𝑎(𝑂𝐻)2)+𝑀𝑒(𝐻2𝑂)×𝑛; 

2. 𝐵𝑎(𝑂𝐻)2 is a hydroxide.It is the formula to calculate the equivalent mass of hydroxide: 

𝑀𝑒(ℎ𝑦𝑑𝑟𝑜𝑥𝑖𝑑𝑒) =
𝑀(ℎ𝑦𝑑𝑟𝑜𝑥𝑖𝑑𝑒)

𝑎𝑐𝑖𝑑𝑖𝑡𝑦
; 

𝑀(𝐵𝑎(𝑂𝐻)2)=171 g/mol; 

𝑀𝑒(𝐵𝑎(𝑂𝐻)2)=
171

2
= 85,5 g/mol; 

3. 𝐻2𝑂 is an oxide. It is the formula to calculate the equivalent mass of oxide. 

𝑀𝑒(𝑜𝑥𝑖𝑑𝑒) =
𝑀(𝑜𝑥𝑖𝑑𝑒)

𝑛×𝑣𝑎𝑙𝑒𝑛𝑐𝑒
;n- is a number of atoms of the oxide-forming element in the oxide molecule: 

𝑀(𝐻2𝑂)=18 g/mol; 

𝑀𝑒(𝐻2𝑂) =
18

2×1
= 9 g/mol. 

4.I am calculating the equivalent mass of 𝐵𝑎(𝑂𝐻)2×8𝐻2𝑂: 

𝑀𝑒(𝐵𝑎(𝑂𝐻)2×8𝐻2𝑂) =85,5+8×9=157,5 g/mol. 

Answer: the equivalent mass of 𝐵𝑎(𝑂𝐻)2×8𝐻2𝑂 is 157,5 g/mol. 
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